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1-What is the single equivalent to a series discounts of
25%, 20% and 5%

A- 59% B-37% C- 45% D-43%

1-25%, 20% 3 5% TZ FI TF FE&E F1 ThHel aUa 78?2
A- 59% B-37% C-45% D- 43%

2. The average age of husband, wife and their child 3 year ago
was 27 years and that of wife and the child 5 years ago was
20 years. The present age of the husband is.

A-35years B-40years C-50 years D- None of these

2. vfa, et 3l 39 W= # 3 ad uwey shww oy 27 A 4 iR
T 3R I F e g 5 Wrer vee 20 a9 o) uf % adue
a1 &:

A- 35 o B- 40 a¥ C-s0 a¥ D-39% & #1% &

3. In a family, there are husband, wife two sons and two daughters.
All the ladies were invited to a dinner. Both sons went out to play.
Husband didn’t return from office. Who was at home.

A- Only wife was a home B- All ladies were at home

C- Only sons were athome  D- No body was at home

3. o oftar & ofy, aoht, & a2 ol 3 afedt & | of afeerd ww oo
Ao % ferg st o | 3 92 @ ¥ g et we 1) f
T A TE wlie 1 W A 912

A- Fae Uel W R o B- &t Afeery WY W o

C-Fadd AT WAY D-RWHE FET A

4. If C is for Criminal, T for Thief and J is for Judge, Which of the
following diagrams represents the relationship correctly?
© ®o
©o OO0 o»
A B C D
A-a B-b

C< Dd

4. Frr=ferfiaa fasii o 1 st (C), =R (T) 2R =i
(J)¥ 30 T g &2

© ®o
@Qo Ogo op

A-a B-b Cc D-d

5- Of the following 4 statements, select 2 statements, both of which
cannot be true, but both can also be false.

I- All machines make noise  II- Some Machines are noisy
Ill- No machine make noisy  IV- Some machines are not noisy
A-1&1 B-&IV C-1& D-N&IV

5398 ¥ 19 | D Hy 0 & e arar 261 wE 16 @ v

T 21 T 81 wa ¥ 2
|- G 9T Wi T E II- F& Wit iR w T F
- =t weft oiR = Rt | IV- o welty o et |
A-13 1l B-MaRIv C-13iRil D- Il 2R IV
6-AZ, GT,MN, ?, YB
A-KF B- RX C-SH D-TS
7- A group of fish is ..........
A- Herd B- Fishes C- School D- Flock

8- Marriage : divorce :: Incorporate : ?

A- adulterate  B- Dilute C- Liquidate D- Evaporate
- Aristotle : Poetics :: Newton : ?

A-Relativity B-Gravity  C- Mutation D- Evolution
8- Aristotle : =faar ;: Newton : ?

A-wiw@ B-T&@ese C- oftEds D- 3afer

10- If 35846 is coded as 63458, then how will 24321 be coded ?
A- 12234 B- 14223 C- 12423 D- 12243

10- afZ 35846 %I Feag fomar ar & 63458, T 24321 Feag
a1 émm ?

A- 12234 B- 14223 C- 12423 D- 12243

11- The inner aperture that we can see in the centre of the eye
is called
A- Cornea B- Retina

C- Pupil D- Iris

11- 3if@ ¥ ge1 § 91 &Y jad fodl REd e SR s Fea §2
A- wifar B- ¥ C- it D- 3w




12- Pick out the scalar quantity

A- Force B-Pressure  C- Velocity D- Acceleration
12- 570 ¥ = O SheR AT &

A-5et B- zama C-am D- &M

13- Which of the following synthetic fibre is called artificial silk ?
A-Rayon  B-Polyster  C- Nylon D- Acrylic

13- 509 ¥ i W Hiaw FEe Fiow W0 F 9 { 5= A\ g ?
A-mH B-wifeet  C- @ D- faei=

14- The agricultural tool used to sow seeds is :

A- Plough B- Wooden Plank  C-Drill  D- leveller

14- % =7 UmT o S e S w5 A

A-T& B- weu c-fe&r D- 7 &%

15- The light refiected by a plane mirror may form a real image ?
A- If the rays incident on the mirror are converging

B- If the object is placed very close to the mirror

C- If the rays incident on the mirror are diverging

D- Under no circumstances

15- wwae 99 | wfeefaa g ffor o arafas sfafes a......
A- 3R féor 979t 1 92 T iR 81 S

B- 3R T FIH! U T 8

C- 3PR 99 9T w2 arelt o fsfa 8 s

D- fardt off avareen # =eff

16- A cell converts

A- Electrical energy into chemical energy
B- Chemical energy into electrical energy
C- Magnetic energy into electrical energy
D- Electrical energy into mechanical energy

16- U 48 FT TR 1 IREdT AT & 2
A- faea 391t =1 v 3=t &

B- v 391 i faga &

C- gras 391 = faga 3o &

D- feregar i =1 i w1 &

17- In a Photosynthetic process, carbon dioxide is
carbohydrate
A-Oxidised B-Reduced C- Neutralised D-Bumt

17- warer deermvr firar ¥ wesEeTans -8 & FEnEde §
A- sTfEoT B-#W C-frerafgs D- sreremdt

(2)
18- Human kidney has large number of fellation units called
A-Neutrons B-Neurons  C- Neptune D- Nephron

18- 7=y = fet 3 arly A ¥ freet faam 81 ¥ 3% @ wwd
¥

A- g B- = C- e D- ¥R

19- is a growth inhibitor hormone in plants.

A- Auxin B- Cytokinin  C-Asceticacid D- Gibberellic acid
19- ——---=- 2 A wgrl F ol A wrHe ol ¥

A-ami B-wmARERE C-Rfew dfge D- fremifors dfe

20- An animal which can reproduce by budding is
A- Bryophyllum B-Yeast C-Hydra D- All of these

20- U1 AR 9 e A A o war g
A- TR B- @R C- o D- 3 ¥ wet

21-If in human a sperm (22+Y) fertilizes an egg (22+x)m the sex
of the foetus shall be

A- Male B- Female C-Either male D-All of these

21-3PR Tt B @1 EIT] (22+Y) (224X) 30 1 THEE LA §
A gor F e ?

A- TE9 B- @t C-genaet D-wft wdft ¥

22- Which one of the following is a non-biodegradable substance?
A-DDT B- Manure  C- Paper D- Cotton Cloth

22- 378 | H | FEAvier yed 78 82

A-Stodtedle B-ER C- &=t D- =93r

23- Amrita Bishnoi lost her life saving forest having trees.
A- Teak B- Khejri C- Bamboo D- Segun

23- siftfan faed 3 et ot v % o e @ ana g @ ?
A- rTEA B- W C-at| D-¥

24- Conservation of wild life includes

A- Preventing poaching of animal

B- Construction of National Parks, sanctuaries
C- Ban on trading endangered species

D- All of the above

24- 3HH | T 99 S F WG F Fia &7
A-vrad & R | as B- wgta et & o
C-agawonfa Hl st WAH  D-z= F woft




25- The theory of Natural selection was proposed by

A- Lamarck  B- Darwin C- Mendel D- Haldane
25- wiwd = =1 g e R an?
A- T B-=ifda C-¥zet D-geeA

26- On seeing good food our mouth salivates. This fluid is actually
A- Water B-Hormone C-Enzyme D- None of the above

26- fardt Tafae <iw %1 3@a ge ¥ <t o2 onal & 9% F A ?
A- 9t B- #mfT C- u=TgH D- &% & #d e

27- During the production of yoghurt from Milk, the system is found

to produce
A- Citric Acid  B- LacticAcid C- FormicAcid D- Acetic Acid

27- 3 ¥ T8 9 F g S W U W T g2

A- TrEfe ufgs B- S Ufs
C- wifits Ufs D- ¥fufew tfve
28- Pulmonary artery brings

A- Oxygenated blood from heart to lungs
B- Oxygenated blood from lungs to heart
C- de-oxygenated blood from heart to lungs
D- de-oxygenated blood from lungs to heart

28- Y ST A w2

- AT §H 759 ¥ WRE 7%
B- e G vl ¥ wea T
C- Fi-anfasie BH ¥2g ¥ ¥l o5
D- & snfFrse G $wEl ¥ 5l 9%

29- The density of air is 0.00130 g/ml. The vapour density of air
will be .
A- 0.00065 C-0.65

B- 144816 D- 14.56

29- 97 T ¥ 0.00130 Jr/fafaferet & & 919 =1 w9 . B

A-0.00065 B-14.4816 C-0.65 D-14.56

30- Intemal energy is

A- Partly potential and partly kinetic B- Totally potential
C- Totally kinetic D- None of these
30- 3r=ifer o & :

A- 2T feafisr drer 7o B- gufe feafast

C- ofa wfar D- w1 ¥

(3)
31- Enthalpy of the reaction C+02->C02 is

A-Positive  B- Negative C-zero D- None

31- 3 o™ # gearerdt Jan, 'C+02->C02"
A-wFos  B-Twmew C-9 D-F= Tt

32- Which of the following statements cannot define the
Characteristic property of “Water is a universal solvent”.
A- It can dissolve maximum number of compounds.

B- It has high liquid range

C- It has very low dielectric Constant

D- None of these

32- 398 | T W FY UM F wEEn e weR W
e & &1

A- 7% sAfirmaw gardl =i Hie Sl §

B- st gedishtor wurer gt &

C- 39 YRegf feris wamer &

D- ¥ & #rd 7

33- Which of the following reaction produces hydrogen
A- Mg+H,0 B- H,S,0,+H,0
C- BaO,+HCL D- Na,0,+2HCL

33- 398 J g wiefer ¥ e
A-Mg+H,0 B-HS.0+H0 C-BaO+HCL D-Na,0,+2HCL

34- Rusting of iron needs
A- Water, Carbondioxide
C- Acid, Gas

B- Oxygen, Water
D- None of the above

34- F1E % 9 e & o = =gy ?
A-Ur, T SRAEERS B- SfEe, W
C- oy, D- #1¢ 7t

35- Pure water has maximum density at what temperature ?
A-O°C B-4°C C-10°C D-100°C

35- Y[ Vel 1 Galius S R aNEE E & 2

A-O°C B-4C C-10°C D-100°C
36- Goldstein discovered :

A-Electron  B- Meson C- Neutron D- Proton
36-MetfeT s E@T F e ?

A-3@EHA  B-FEN C- =g D- 9z

37- Which one among the following is magnetic ?
A- Copper B- Brass C- Silver D- Nickel




F-TH AT M gEIE wEd ¥ 7

A- difar B-wr C-=idt D- firere

38- Mark the odd one out among the following ?

A-Diamond B- Gold C- Graphite D- Coal
38-T70 ¥ BT W9y M E 2
A-E B- §r C- D- Frge

39- What kind of a mirror is this ?

= \'

A- Plane mirror B- Convex mirror k p
C- Concave mirror D- magnifying mirror e S
39- % v w1 ador ¥

é -3
A- g St B- zae vt L )l
C- avaae viren D- s irem an ey et

40- As the valency of metal is 2. Formula of metal chloride
will be
A-MCI B- FeCl,

C- Mcl D- M,

40- 3 Rt v it ddreremar 2 ¥ O 39% FEINES 1 Hen =
Ll

A-M.CI B- FeCl, C- Mcl D- Mcl,
41- Formula of Iron Pyrite is

A-Fe0 B- FeCl, C- FeCl, D- FeS,
41- TETA TRAEE F GH B

A-FeO B- FeCl, C- FeCl, D- FeS,
42- Halides belong to group

A-V B- Il C- Zero D- Vil
2-rems fra e ¥ ama ¥ 2

A-V B- il C-v= D-vil

43- Which of the following halogen is used as a strong bleaching
and disinfectant agent
A-F, B-Ch

C-1 D- Br,

43- 379 { 7 |1 RN UF Hored ey A9 I Hrd Al £ 2
A-F, B-Ch c-l, D-Br,

44- Which pair is not correct ?

A- Temperature - Thermometer

B- Atmospheric Pressure - Barometer
C- Relative Density- Hydrometer

D- Unit of charge- Coulomb

Class - VIl

(4)

44- ¥ b NS wE @ E 2
A- TuT-enieieT B- AraTafior Zam - e
C- 9% U9 - BEgMiel  D- =TSl i 3R - Tiena

45- The filament of bulb is made of

A-Mercury  B-Copper  C-Tungsten D- None of these
45- 97 1 o P am e ¥ 2
A- TR B- wifar C- e D- %1 @

46- Force responsible for the circular motion of body is
A- Centripetal force B- Centrifugal force
C- Gravitational force D- None of these

46- aftes 7fy & o fondier == = == 0 2
A- Ffoge =et B- 319 =T
C- TR e D- %K 7@l

47- If Na is heated in presence of air, it forms

A-NaCo, B-NaO, C-NaO  D-Both(b)and (c)

47- 37 Na =t 7 % ogeh & mof faar st < =2 =9
A-NaCo,  B-Na0, C-Na,0 D-2MT (b) 3R ()

48- The positive charge of an atom is
A- Spread all over the atom  B- Distributed around the nucleus
C- Concentrated at the nucleus D- Al of these

48- T 7]
AR TSATIME B Fx ¥ wurg w9 § fawifow € s
C-FeFmaiwmmt D- 35w |+t

49- The maximum valency of an element with atomic number 7 is

A-2 B-5 Cc4 D-3
50- Which salt is acidic in nature ?

A- Nacl |B-Hcl C-Naoh D-Bacl,
50- 17 T AT AT ?

A- Nacl B-Hcl C-Naoh D-Bacl,




